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Department of Electrical Engineering
School of Science and Engineering

EE514/CS535 Machine Learning

HOMEWORK 3

Due Date: 23:55, Sunday, April 25, 2021 (Submit online on LMS)
Format: 5 problems, for a total of 80 marks
Contribution to Final Percentage: 2.5%
Instructions:

� Each student must submit his/her own hand-written assignment, scanned in a single PDF
document.

� You are allowed to collaborate with your peers but copying your colleague’s solution is
strictly prohibited. Anybody found guilty would be subjected to disciplinary action in
accordance with the university rules and regulations.

� Note: Vectors are written in lowercase and bold in the homework, for your written
submission kindly use an underline instead. In addition, use capital letters for matrices and
lowercase for scalars.

Problem 1 (10 marks)
Perceptron - Consider a single perceptron classifier that receives binary input x ∈ {0, 1}d,
shown in Figure 1.

Figure 1: Perceptron Classifier

Where:

y =

{
1
∑d

i=1wix
(i) ≥ θ

0
∑d

i=1wix
(i) < θ

(a) [4 marks] Given d = 2, threshold θ = −3. Provide the values of weights, w1 and w2,
if we were to construct a NAND function.

(b) [6 marks] Now repeat the same problem with d = 3 and NOR function.



Problem 2 (20 marks)
Hard Margin SVM - Consider the training data points given in Figure 2. Positve class
has label ’+1’ and are shown as red circles, while negative data points have label ’-1’ and
are shown as blue triangles.

Figure 2: Training Points for SVM

(a) [4 marks] In the case that we use a hard-margin SVM classifier, write down the
support vectors. Show your working and diagrams.

(b) [6 marks] Now suppose we add another negative class data point at (5,1), write down
the new support vectors. Show your working and diagrams.

(c) [5 marks] Consider the general scenario of adding new training data points in a SVM
classification problem. Will our objective function ‖w‖ decrease? Increase? Or stay
the same? Justify each case.

(d) [5 marks] Explain why we require at least one data point on each side of the decision
boundary to converge to a solution in SVM hard margin classification.
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Problem 3 (10 marks)
Perceptron and SVM - In this problem we will look at a comparison of Perceptron and
SVM and how to counter their limitations.

(a) [4 marks] Consider the single dimension classification problem given in Figure 3.
Provide a range of possible decision boundaries for perceptron and hard-margin SVM.

Figure 3: Single dimension training data

(b) [6 marks] Now consider the training data in Figure 4.

Figure 4: Single dimension training data

Clearly the problem is no longer linearly separable. However we can convert it into a
linearly separable problem by introducing a new feature given as:

x2 =

{
3 x1 ≤ a
−3 x1 > a

Provide a value of a that can accomplish this task. Show that separation is achieved
by plotting a decision boundary (give equation of line). You may use online graphing
softwares such as Desmos to help visualise and plot the two dimensional data.
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Problem 4 (30 marks)
Backpropgation - In this problem we will use a neural network to implement a self-driving
car. You are provided images of the steering wheel, which are processed into grayscale 128
× 128 pixel images, these act as the input to the network. There are two labels of each
image, the steering wheel angle and speed in kilometers per hour.

Your neural network has a hidden layer with 1024 units. The activation function used in
hidden layer is the ReLU function. (There is no activation function at the output).

(a) [5 marks] Draw and label the neural network.

(b) [5 marks] Calculate the total number of weights in the neural network. (Be mindful
of the bias).
The loss function chosen is given by: J = 1

2
|y − ŷ|, where y is the true training label

vector, and ŷ is the predicted output vector. You are given the following transforma-
tions:

� x is the flattened image vector with bias appended

� z is the vector of values at hidden layer, before activation function.

� W [1] is the weight matrix mapping from the input layer to the hidden layer, i.e.,
z = W [1]x

� g(.) is the ReLU activation function.

� a is the vector of values at hidden layer, after passing through activation function,
i.e., a = g(z)

� W [2] is the weight matrix mapping from hidden layer to the output layer, i.e.,
ŷ = W [2]a

(c) [5 marks] Derive ∂J

∂W
[2]
ij

(d) [5 marks] Now write ∂J
∂W [2] , i.e., use vector products.

(e) [10 marks] Using your result from previous parts, derive ∂J

∂W
[1]
ij
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Problem 5 (10 marks)
k-Means Clustering - In this question we will dry-run the k-means clustering algorithm
on a two dimensional data-set. The data-set is provided in Table 1.

# Data Point

1 (2, 5)
2 (1, 7)
3 (1, 3)
4 (3, 2)
5 (5, 2)
6 (2, 7)
7 (3, 5)
8 (2, 2)

Table 1: Data points for unsupervised learning

Run the k-means algorithm for k = 3 on this data-set until convergence. Take data points
3, 6 and 7 as your initial centroids for k = 1, 2, and 3 respectively. Use Euclidean distance
where required. Classify each data point with it’s corresponding k-number.

— End of Homework —
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